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Test 6 SHOW YOUR WORK
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The sum of the digits of a two-digit counting number is 15. When the digits are reversed, the new number is 27 more than
the original number. What was the original number?

Which of the following sets of ordered pairs are functions?

@ {(2.6.(1,3),3,5,6.2)} b {16 (23.6,6,6.9)
@ ((2,1.3,2,1,6,48)

Graph the following sets on the real number line.

@ {xeR| |x-4] <3} b {xe R Ix-3 >4}
Convert 5i + 12j to polar coordinates. (Write four forms for this point.)

Let f(x) = x> + 2x — 6. Evaluate: (a) f(-4)  (b) f(8)

Factor: (a) 125p%5 — 216k°  (b) x* - y*

A solid is made up of a hemisphere, a right circular
cylinder, and a right circular cone, as shown. Find the 10 cm
volume of the solid.

Ve

8cm

Find the domain of the function defined by each equation:
1
@@ f(x) =~x+5 () gx) = 1

Convert 7/—142° to rectangular coordinates. 10. Factor: 5x*"*2 + 15x

2n+1

Sketch the graph of each function:

1 X
1. y=7* 12. y = (5)

13.

14.

15.

16.

18.

19.
20.

Determine whether each graph represents the graph of a function. If so, determine whether the graph is a one-to-one
function or not.

(@) y () y (©) y d) y

Erin has a total of 30 coins worth $4.25. All of the coins are either nickels, dimes, or quarters. If the number of quarters is
the same as the number of dimes, how many of each kind of coin does she have?
Given: HP = KP H K

P = JP
Write a two-column proof to prove: P

AHPI = AKPJ . / J

2 2
LTy =8 c

S { W 5 =4 17. Simplify: (@ - b)(a”'b + ab™)™

. 3 ,
Draw reference triangles to evaluate —2— tan 30° + +/3 sin 60° — /2 cos 45°. Do not use a calculator.

A sphere has a volume of 2887 cubic feet. Find the surface area of the sphere.

How much water should be added to 89 liters of a 45% saccharine solution to get a 40% saccharine solution?
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